My Intervention on the King’s Speech
debate (1)

John Redwood (Wokingham) (Con):

Is my right hon. Friend aware that the Office for National Statistics
published figures for the three years from 2020 to 2022, which state that
public service productivity in general fell by an unprecedented 7.5%7? That
means that we needed to put roughly £30 billion extra into public services to
achieve the same thing.

Mr David Davis:

My right hon. Friend is right: it is a systemic problem. It does not just
affect Britain or the health service. Indeed, I think that numbers for those
years for the health service were about 25%-so huge, huge numbers. I bring
this back to the reality of the individual. If we delay diagnosis and
treatment, we sentence people to death. It is as harsh as that.

I would like us dramatically to increase the amount of diagnostic capacity we
have. If we look at OECD numbers on CT scans, I think we are third from
worst. This is why I say it is not a single Government problem—we do not get
to be third from worst in one term; it happened over the course of the whole
30 years. On MRI scans, we are the worst in the OECD. How on earth a country
such as ours gets to that position is astonishing.
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